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TELECOMMUNICATION & SWITCHING NETWORKS

Rulfa o Al (At 31 : 70

Time allowed : Three Hours] [Maximum Marks : 70
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Note : Question No. 1 is compulsory, answer any FIVE questions from the remaining.
(i) FAF J¥T & G 9T 1 FHGR 0 1Y 57 FHo

Solve all parts of a question consecutively together.
(iti) FF F77 F 79 98 8 IR0 Fd |
Start each question on fresh page.

(v) 7 STaTaTi 7 3= g 1 Rl 7 3 s G mr & 1
Only English version is valid in case of difference in both the languages.

1L @) 1@ are o gfia Hifv |
Define 1 Erlang Load.
(i) EER A ITAFT S A feafeim dal &1 anifestor Fif |
Classify switching systems used in telecommunication.
(iii) SfERd aEe-dA =N R ?
What is side-tone in telephone ?
(iv) EPABX &1 %1 3541 & ?
What is the use of EPABX ?
(v) EETiera efiniA Taeds & g 3 o il |

Write any two advantages of automatic telephone exchange. (2x5)
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e S wet et g & e e IR
(a) SR T T
(b) AR U A -eATTHT Aeah
Differentiate between the following terms with reference to telecommunication :
(a) . Subscriber line and trunk
(b) Blocking and Non-blocking network (3x2)
Hhiha shre 1 fg-saet anfheaar & dis wmsn W i qWIET |

Explain the Load-sharing mode of dual processor architecture of centralized
control. A 6)

TR WY feafin 3g afeeaw anfhee=t A qwasy |
Explain the software architecture for electronic space switching.

g faem g o & st dEd |/ FTSaaflra 94 Rarsan o gussT |

Explain the sequential write / random read operation of time division time
switch. (6x2)

TST &= ) Hriyonel = 3 <) g™ § a9y |

Explain the working of TST switch with the help of diagram.
A1 Wikt o R § awsisT |

Explain Markov process in detail. (6%2)

far wel 0 e rfirrifyeht & el # afomfa i

(a) TR EA

®) FETR

(c) Warhi Ioft

Define the following terms with reference to traffic engineering :

(a) Busy hour

(b) Call completion rate

(c) Grade of service : (2x3)
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20 firte & Sagvr SiaUe ® 40 INNTT B YE HA 8 | i B ol THT 4800
THvey & | STHIERITST g Aeah W STl 71 SIS Fid hiferg |

Over a 20 minute observation interval, 40 subscribers initiate calls. Total
duration of the calls is 4800 seconds. Calculate the load offered to the network
by the subscribers. 6)

WAN &1 anTfhea=r a13u 31K 38 gmemsy |

Draw the architecture of WAN and explain it.
GUg ARG HI GERT A HIGT B o hl HREITUIA THHTE |
Explain the working of cordless phone system with the help of block diagram. (6x2)

LAN # Y& g1 areft fafi=r il o wé & amgmsy |
Briefly explain the various topologies used in LAN.
Tl Tl Ud ag-%alq TeT] Sl qoiT I |

Compare single stage and multi-stage networks. (6x2)

e & & fopedi @ e feoafirat fafla -

Write short notes on any two of the following :

®

(i)

=

WAN
faaf@ spc

Distributed SPC

(i) N,

PSTN - (6x2)
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